c R H F TS M H N® Assembly Instructions

45-In. One Drawer —

Workbench ¥
376637

UNPACKING

1. Remove top of box. Remove styrofoam packing and
loose cardboard corner inserts. Remove leg packaging
from front of box.

2. Use utility knife to cut down box corners.

3. Carefully remove top tray from bottom shelf.

4. Remove remaining work bench parts from box. Be sure
to separate supportive plates from back legs and slide
boards from front legs.

5. Compare all parts with the Package Contents list and
the Hardware Included count. If any part appears

I —
missing or damaged, do not proceed with assembly. o [
Repack and return bench to store where purchased . I
for exchange. \ /<

Espaiiol, pagina 7

For Help Line, Parts and Service:
Call 8 am - 5 pm, CT, Monday - Friday
1-888-448-6746 Printed in China

Sears Brands Management Corporation, Hoffman Estates, IL 60179 U.S.A.
www.craftsman.com
Used under license



Table of Contents

TableofContents . ............ccoiiiiiiiiiiiiinnnns 2
Safety Information ...................coiiiiiiines, 2
FCOWarning.......ovviiirinnnrinnrrnnnrennrennnres 2

Safety Information

Warranty..........coiiiii i it e i i i n e 3
Pre-Assembly . .............cciiiiiiiiiii i 3-4
Assembly. ....... ...t i i e e 5-6

Please read and understand all instructions in this manual before you
assemble of use this product.

o Do not open more than one drawer at a time.
o Do not let children approach the product.

o To help prevent the product from tipping, load the product
starting from the bottom drawers.

o Keep the locking caster brakes set unless you are moving the
work station. This prevents the product from rolling.

o Lock all drawers before moving the product.
o Push this product. Do not pull.
o Do not alter this product in any manner.

CALIFORNIA PROPOSITION 65 WARNING:
AWARNING: This product contains chemicals
known to the State of California to cause cancer
and hirth defects or other reproductive harm.
For mare information: www.p65warnings.ca.gov

FCC Warning

DANGER: Do not stand on this product. You may fall or
cause the product to tip.

DANGER: Do not move the product prior to closing and
locking all the drawers. The drawers could come open and
make the product unstable and tip.

WARNING: Keep the product on a level surface. The
product may become unstable and tip if stored or moved on
an uneven surface.

CAUTION: Do not lift this product directly with a forklift or
tow with any mechanical devices.

> e > b P

CAUTION: Only transport this product when empty.
Properly secure when transporting.

Please note that changes or modifications of this product is not expressly approved by the party responsible for compliance could void the

user’s authority to operate the equipment.

NOTE: This equipment has been tested and found to comply with the limits for a Class B digital device, pursuant to Part 15 of the FCC
Rules. These limits are designed to provide reasonable protection against harmful interference in a residential installation. This equipment
generates, uses and can radiate radio frequency energy and, if not installed and used in accordance with the instructions, may cause
harmful interference to radio communications. However, there is no guarantee that interference will not occur in a particular installation. If
this equipment does cause harmful interference to radio or television reception, which can be determined by turning the equipment off and
on, the user is encouraged to try to correct the interference by one or more of the following measures:

o Reorient or relocate the receiving antenna.
o Increase the separation between the equipment and receiver.

o Connect the equipment into an outlet on a circuit different from that to which the receiver is connected.

o Consult the dealer or an experienced radio/TV technician for help.

This device complies with Part 15 of the FCC Rules. Operation is subject to the following two conditions: (1) this device may not cause
harmful interference, and (2) this device must accept any interference received, including interference that may cause undesired operation.




Warranty

CRAFTSMAN ONE YEAR LIMITED WARRANTY

FOR ONE YEAR from the date of sale this product is warranted against defects in material or workmanship.

WITH PROOF OF SALE a defective part will be replaced free of charge. If a replacement part is unavailable, the product will be replaced with
one of equal value.

For warranty coverage details to obtain free replacement, visit the web page: www. craftsman. com/ warranty

This warranty does not apply to a product that is damaged or altered through transportation, misuse, abuse,

corrosion, accident, neglect modification or mishandling, nor does coverage apply if the product is ever attached to a moving vehicle.

This warranty is void if this product is ever used while providing commercial services or if rented to another person.

This warranty gives you specific legal rights, and you may also have other rights which vary from state to state.

Sears Brands Management Corporation, Hoffman Estates, IL 60179

Pre-Assembly

MAXIMUM WEIGHT CAPACITIES TOOLS REQUIRED
Top storage tray 50 Ibs.
Wooden top 300 Ibs.
Drawer 100 Ibs.
Bottom tray 350 Ibs.
Total capacity 800 Ibs.
HARDWARE INCLUDED Phillips screwdriver 7mm for NUT M4
#2and #3 10mm for NUT M6
@ NOTE: Hardware not shown to actual size.
Part |Description Quantity AA BB CC
AA  |Screw ST6.3x12 56 (+2 extra) ﬂlﬁ\ﬁ Eﬁ &
BB (Bolt M4x10 2
CC |Hex nut M4 2 DD EE FF
DD |(Bolt M6x12 6 @ = 0‘
EE  |Hex nut M6 6 9 WD
FF |Pan head tapping screw ST4.2X12 6 GG
2

GG |Pan head tapping screw ST4X8
)




Pre-Assembly (continued)

PACKAGE CONTENTS

/
F
<

Part |Description Quantity Part |Description Quantity
A Bottom shelf 1 J Pegboard 1
B Left front leg (L) 1 K Top storage tray 1
C Right front leg (R) 1 L Side board for top storage tray 2
D Left back leg (L) 1 M Wooden top 1
E Right back leg (R) 1 N Hook 5
F Top tray 1 0 Protective ring 4
G Sliding drawer 1 P Power outlet 1
H Supportive plate 2 Q Handle 1
I Drawer slide for sliding drawer 2 R Plastic cover for handle 2




Assembly

1 Attaching the front and back legs

Attach the front legs (B, C) and back legs (D, E) onto the bottom
shelf (A) using 4 (AA) screws for each leg as shown.

Tip: Turn bottom shelf onto its side for easier assembly.

2 Attaching the top tray

Attach the top tray (F) to bench using 4 (AA) screws to secure
each corner as shown.

3 Attaching the drawer slide and top tray supportive
plates

1. Use four (AA) screws to install one drawer slide (I) to each side of
bench in the position shown.

2. Position the two supportive plates (H) onto the top of the
assembly as shown.

3. Secure the two supportive plates (H) to the middle of the top
tray (F) as shown using six (DD) bolts, six (EE) nuts and two (AA)
screws.

4 Attaching the pegboard
1. Attach the pegboard (J) to both sides of the assembly using
screws 3 (AA) screws in each location.

2. Insert one protective ring (0) into the pegboard and one into
the power cord hole on the back of bench as shown.




Assembly

5 Top storage tray

Fold the top storage tray (K) as shown.

6 Top storage tray assembly
1. Slide the tray side boards (L) into position as shown on each

side of tray and attach with four (AA) screws.

2. Unfold each lid hinge to full extension. Use one BB bolt and

one (CC) nut to attach hinge to tab on each side of lid. (A
wrench is required for this step.)

. Insert the two protective rings (0) into the back of the top

storage tray as shown.

. Use 2 screws (GG) to install the handle (Q) and fasten the

screw onto the top storage tray (K). Cover the handle ends
with 2 plastic covers for handle (R).

7 Install power outlet, power cord, top storage tray, drawer and wooden top

1

2.

4,

5.
6.

. Attach the power outlet (P) to the right side of bench using

tapping screws (FF) as shown.

Remove the protective ring (0) from the power cord hole in
the back of the bench. Push plug through the cord hole. Work
the protective ring over the cord plug onto the cord. Insert
ring back into cord hole.

. Lower the top storage tray (K) onto the two posts extending

from the top of the pegboard (J). There is a slot on each side
of the tray bottom into which the posts insert.

Slide the drawer (G) into the drawer slide for sliding drawer (1)
underneath the top tray (F) as shown.
Place the wooden top (M) onto the top tray (l) as shown.

Insert the five hooks (N) into the left side of the bench as
shown.

Removing drawer

Pull drawer out so that it is almost fully extended. Push up
on release lever on right side of drawer while pushing down
release lever on left side of drawer. Pull the drawer outward
until it releases from the drawer slides.




CRAFTSMAN

Mesa de Trabajo
de Un Cajon
de 45 Pulg. (1.14 m)

376637

DESEMBALAJE

1.

w

Retire la parte superior de la caja. Retire el embalaje de
poliestireno extruido y los esquineros de carton sueltos.
Retire el embalaje de las patas de la parte anterior de la caja.

. Utilice una navaja multiuso para cortar las esquinas de la caja.
. Retire cuidadosamente la bandeja superior del estante inferior.
. Retire de la caja las partes restantes de la mesa de trabajo.

Asegurese de separar las placas de soporte de las patas
traseras y las tablas deslizantes de las patas delanteras.

. Compare todas las partes con la lista de Contenidos del

Embalaje y del Total de piezas metalicas incluidas. Si falta
alguna de las partes o si estan dafiadas, no siga con el
montaje. Vuelva a armar el embalaje y devuelva la mesa de
trabajo a la tienda donde la compro para cambiarla.

@ Linea de ayuda, Piezas de repuesto y Servicio:

Llame de lunes a viernes de 8 am a 5 pm CT
1-888-448-6746

Instrucciones de montaje

Impreso en China

Sears Brands Management Corporation, Hoffman Estates, IL 60179 EE. UU

Utilizado bajo licencia

www.craftsman.com



Indice

1101 S 8 (61 711 (7 P 9
Informacion de Seguridad . ..................o e 8 Preensamblado................cciiiiiiiirinnnenn 9-10
AdvertenciadelaFCC ..............ccoiviiiirrnnrenns 8 Montaje.....covviiiiiie i it nn i 11-12

Informacion de Seguridad

Por favor lea y comprenda todas las instrucciones de este manual

antes de ensamblar o de utilizar este producto PELIGRO: No se pare sobre este producto. Usted podria

caerse 0 hacer que el producto se incline..
o No abra méas de un cajén por vez.

o No deje que los nifios se acerquen a este producto.

todos los cajones. Los cajones podrian abrirse y hacer que
el producto se ponga inestable y se incline.

o Para impedir que el producto se incline, carguelo comenzando
por los cajones inferiores.

o Mantenga las rueditas con freno trabadas mientras mueve la

mesa de trabajo. Esto impide que el producto salga rodando. ADVERTENCIA: Mantenga el producto sobre una

superficie nivelada. El producto podria tornarse inestable
e inclinarse si fuera almacenado o movido sobre una
superficie irregular.

g PELIGRO: No mueva el producto antes de cerrar y trabar

o Trabe todos los cajones antes de mover el producto.
o Empuje el producto. No tire de él.

o No altere este producto de ninguna manera. PRECAUCION: No levante este producto directamente

con un carro elevador ni lo remolque con ningun dispositivo
PROPUESTA 65 DE CALIFORNIA. ADVERTENCIA: mecanico.
A\ ADVERTENCIA: Este producto contiene sustancias
guimicas que segun el Estado de California causan céncer,
defectos congénitos u otro dafio al sistema reproductor.

Para mayor informacion www.pB5warnings.ca.gov

PRECAUCION: Transporte este producto tinicamente
cuando esté vacio. Amarre bien el producto para
transportarlo.

> B

Advertencia de la FCC

Por favor, tenga en cuenta que los cambios o modificaciones efectuados a este producto no aprobados expresamente por la parte
responsable del cumplimiento podrian invalidar la autoridad del usuario para hacer funcionar el equipo.

NOTA: Este equipo ha sido puesto a prueba y se ha comprobado que cumple con los limites establecidos para dispositivos digitales de
Clase B, segun la Parte 15 del Reglamento de la FCC. Estos limites se han disefiado para proveer proteccion razonable contra interferencia
dafiina en una instalacion residencial. Este equipo genera, utiliza y puede emitir energia de radio frecuencia y si no se lo instala y utiliza

de acuerdo con las instrucciones, puede causar interferencia dafina a las comunicaciones de radio. Sin embargo, no hay garantia de que
no ocurrira interferencia en una instalacion determinada. Si este equipo causa interferencia dafina a la recepcion de radio o television, la
cual se puede determinar encendiendo y apagando el equipo, el usuario puede tratar de corregir la interferencia mediante uno o mas de los
siguientes procedimientos:

o Volver a orientar o cambiar de ubicacion la antena receptora.
o Aumentar la separacion entre el equipo y el receptor.

O

Conectar el equipo a un tomacorriente que esté en un circuito diferente al del receptor.
o Solicitar ayuda al distribuidor o a un técnico experimentado en radio/TV

Este dispositivo cumple con la Parte 15 del Reglamento de la FCC. . Su funcionamiento esta sujeto a las dos condiciones siguientes: (1)
este dispositivo no debe causar interferencia perjudicial, y (2) este dispositivo debe aceptar cualquier interferencia recibida, incluyendo las
que pueden causar una operacion indeseada.




Garantia

GARANTIA CRAFTSMAN LIMITADA A UN ANO

Este producto estara en garantia contra defectos en los materiales o en la manufactura POR UN ANO a partir de la fecha de venta.
La parte defectuosa sera reemplazada sin costo alguno CON COMPROBANTE DE VENTA. Si la pieza de recambio no esta disponible, el producto
sera reemplazado por uno de igual valor.
Para conocer los detalles de cobertura de la garantia para obtener un reemplazo gratuito, visite la pagina web: www.craftsman.com/warranty.
Esta garantia no se aplica a un producto que se haya dafiado o alterado a causa del transporte, uso incorrecto o indebido, corrosion, accidente,
negligencia, modificacion o mal trato, y tampoco se aplicara la garantia si el producto alguna vez es acoplado a un vehiculo en marcha. Esta
garantia quedara anulada si el producto es utilizado alguna vez para proveer servicios comerciales o si es alquilado a otra persona.
Esta garantia le otorga a usted derechos legales especificos, y usted podria también tener otros derechos que varian de estado a estado.
Sears Brands Management Corporation, Hoffman Estates, IL 60179

Preensamblado

CAPACIDADES DE PESO MAXIMO

PIEZAS METALICAS INCLUIDAS

Bandeja de 50 Ib

Superficie superior de madera 300 b
Cajon 100 Ib
Bandeja inferior 350 Ib
Capacidad total 800 Ib

@ NOTA: Las piezas metalicas no se muestran en su tamaiio real.

Part |Descripcion Cantidad
AA |Tornillo ST6.3x12 56 (+2 extra)
BB |Perno M4x10 2
CC |Tuerca hexagonal M4 2
DD |Perno M6x12 6
EE |Tuerca hexagonal M6 6
FE Tornillo de cabeza plana de rosca 6

cortante ST4.2X12
GG Tornillo de cabeza plana de rosca 9

cortante ST4X8

AA

b o

DD

HERRAMIENTAS NECESARIAS

Destornillador phillips

#2y#3

BB

@) =

EE

7 mm para tuerca M4
10 mm para tuerca M6




Preensamblado (continuacion)

CONTENIDOS DEL EMBALAJE
A B C D

E
//"

M

Part |Descripcion Cant Part |Descripcion Cant
A Estante inferior 1 J Tablero de clavijas 1
B Pata frontal izquierda (1) 1 K Bandeja de almacenamiento superior 1
C Pata frontal derecha (D) 1 L Placa Iatera_l para band_e ia de 2

almacenamiento superior

D Pata trasera izquierda (l) 1 M Superficie superior de madera 1
E Pata trasera derecha (D) 1 N Gancho 5
F Bandeja superior 1 0 Anillo protector 4
G Cajon deslizante 1 P Tomacorriente 1
H Placa de soporte 2 Q Manija 1
| Corredera de cajon para cajon deslizante 2 R Cubierta plastica de la manija 2

10



Montaje

1 Colocacion de las patas traseras y delanteras 2 Colocacion de la bandeja superior

Fije las patas delanteras (B, C) y las patas traseras (D, E) sobre el Fije la bandeja superior (F) a la mesa de trabajo utilizando 4
estante inferior (A) utilizando 4 tornillos (AA) para cada pata tal tornillos (AA) para asegurar cada esquina tal como se lo muestra
como se muestra en la ilustracion. en el esquema.

Consejo: Ponga el estante inferior
de costado para facilitar el montaje.

AA
3 Colocacion de la corredera de cajon y de las 4 N .
placas de soporte de la bandeja superio Colocacion del tablero de clavijas
1. Utilice cuatro tornillos (AA) para instalar una corredera de cajon (l) 1. Fije el tablero de clavijas (J) a ambos lados del ensamblaje
a cada lado de la mesa de trabajo en la posicion indicada. utilizando 3 tornillos (AA) en cada sitio.
2. Posicione las dos placas de soporte (H) sobre la parte superior 2. Inserte un anillo protector (0) en el tablero de clavijas y uno
del ensamblaje tal como se muestra. en el orificio para cable en la parte posterior de la mesa de

3. Asegure las dos placas de soporte (H) al centro de la bandeja trabajo tal como se muestra en la ilustracion.

superior (F) como se muestra en la figura utilizando seis pernos
(DD), seis tuercas (EE) y dos tornillos (AA).

11



Montaje

. . . Montaje de la bandeja de almacenamiento
5 Bandeja de alma almacenamiento superior 6 superior

Pliegue la bandeja de almacenamiento superior (K) como se | 1, peslice las placas laterales (L) hasta que queden en su posicion a
muestra en la imagen. ambos lados de la bandeja y ajuste con cuatro tornillos (AA).

2. Despliegue cada una de las hisagras de tapa hasta el punto maximo.
Utilice un perno BB y una tuerca (CC) para ajustar la bisagra a la
lengiieta que se encuentra a ambos lados de la tapa. (Necesitara una
llave inglesa para cumplimentar este paso).

3. Inserte los dos anillos protectores (0) en la parte posterior de la
bandeja de almacenamiento superior, tal como se muestra en la
imagen.

4, Utilizar 2 tornillos (GG) para instalar la manija (Q) y ajuste el tornillo
en la bandeja de almacenaje superior (K). Cubra los extremos de la
manija con 2 cubiertas plasticas de la manija (R).

7 Instalacion del tomacorriente, del cable, de la bandeja de almacenamiento superior, del cajon y de la
superficie superior de madera

1.Fije el tomacorriente (P) al costado derecho de la mesa de trabajo utilizando
tornillos de rosca cortante (FF) tal como se muestra en la imagen.

2.Retire el anillo protector (0) del orificio del cable de la parte trasera de la
mesa de trabajo. Empuje el enchufe por dentro del orificio del cable. Pase el
anillo protector que se encuentra en el enchufe sobre el cable. Inserte el anillo
nuevamente en el orificio del cable.

3.Descienda la bandeja de almacenamiento superior (K) sobre los dos postes que
se extienden desde la parte superior del tablero de clavijas (J). Hay una ranura a
cada lado de la parte inferior de la bandeja donde se insertan los postes.

4.Deslice el cajon (G) en la corredera del cajon (I) debajo de la bandeja superior (F)
como se muestra.

5.Coloque la superficie superior de madera (M) sobre la bandeja superior (1) tal
como se muestra en la imagen.

6.Inserte los cinco ganchos (N) en el lado izquierdo de la mesa de trabajo, tal como
se muestra en la imagen.

Para retirar el cajon

Tire del cajon hacia afuera hasta que esté extendido en casi su totalidad. Suba
la palanca de liberacion a la derecha del cajon y al mismo tiempo descienda la
palanca de liberacion a la izquierda del cajon. Tire del cajon hacia afuera hasta que
salga de las correderas de cajon.

12



CRAFTSMAN

For Help Line, Parts and Service:
Call 8 am - 5 pm, CT, Monday - Friday
1-888-448-6746

Linea de ayuda, Piezas de repuesto y Servicio:
Llame de lunes a viernes de 8 am a 5 pm CT
1-888-448-6746

Used under license Sears Brands Management Corporation, Hoffman Estates, IL 60179 U.S.A.
Utilizado bajo licencia www.craftsman.com



